### SUBMITTAL TO THE BOARD OF SUPERVISORS **COUNTY OF RIVERSIDE, STATE OF CALIFORNIA**



FROM: County Auditor-Controller

**SUBMITTAL DATE:** January 13, 2010

SUBJECT: Introduction and adoption of Ordinance No. 860.5 of the County of Riverside amending Ordinance 860.4 related to establishing fees of the County Auditor-Controller.

### **RECOMMENDED MOTION:**

Date:

Prev. Agn. Ref.: 9.15 of 9/29/09

- 1. That the Board of Supervisors introduce and set for hearing adoption of Ordinance 860.5 of the County of Riverside pertaining to an amendment of Ordinance 860.4 adopted September 29, 2009, for fees charged for services provided by the County Auditor-Controller.
- 2. Upon the close of the hearing, that the Board adopt Ordinance 860.5.

BACKGROUND: In accordance with the provision of Government Code Section 54985, this amendment revises the current fees for the issuance of warrants and services provided by the County Auditor-Controller (see Attachment A).

A detailed analysis supporting the calculations is available at the Office of the Auditor-Controller

Attachment B	3 Projected County/Flood				
EINANCIA		ROBERT E. BY County Auditor			
FINANCIA DATA SOURCE OF	Current F.Y. Total Cost:  Current F.Y. Net County Co Annual Net County Cost:	\$0	In Current Year Budget Adjustn For Fiscal Year	nent:	No No
SOURCE OF	FUNDS: N/A			Positions Deleted Pe	
				Requires 4/	
<u> </u>	OMMENDATION:		APPRO	Norris	~
County Exec	cutive Office Signature	S OF THE BOARD O	F SUPERVISOR	S	
นทลกimous the reading	On motion of Supervisor vote, IT WAS ORDERED the and is set for public hearing	Tavaglione, seconde at the above ordinance	ed by Supervisor ce is approved as 2, 2010 at 9:30 a	Stone and duly introduced with	carried by h waiver o
□ Ayes: Nays: Absent:	None	LOCALL MALLOWS CON	Kecia Harpe Clerk of the		

February 9, 2010

District:

Agenda Number

Auditor, COB

### Attachment "A"

### Fees Charged for Services

	FY 09-10	FY 10-11
Special District County B Warrant (each)	\$ 4.35	\$ 4.35
Overnight Rush County B Warrant (each)	4.61	4.61
Special District Processing of Journal Vouchers (per line)	1.06	1.06
County/Flood Payroll Warrant/Direct Deposit (each)	5.38	4.39
Special District Off-Cycle Warrant (each)	37.07	37.07
Special District Payroll Warrant (non-County) (each)	8.48	8.48
Child Support Garnishment (each)	1.50	1.50
Medical Support Garnishment (each)	1.50	1.50
Spousal Support Garnishment (each)	1.50	1.50
Earnings Withholding Orders (each)	1.50	1.50
Sheriff Writs (each)	1.50	1.50
Copies - B&W (County, Special District, Public) (each)	0.02	0.02
Copies - Color (County, Special District, Public) (each)	0.17	0.17
Internal Auditing (per hour)	82.67	82.67
Property Tax Time-Share Assessment (per assessment)	3.01	3.01
Property Tax Fixed Charge Transaction (per parcel)	0.06	0.06
Property Tax Fixed Charge Correction (each)	42.16	42.16
Property Tax Fixed Charge Correction (per batch)	126.47	126.47
Property Tax Fixed Charge Enrollment/Correction (per batch)	165.77	165.77
Property Tax Redevelopment Service (per hour)	163.49	163.49

,	. `		
			1
			2
			3
		4	4
			5
	1		6
		•	7
		1	3
		9	)
	1	(	):
		. 1	
			)
	1		
	1	4	١
	1	5	,
	1	6	,
	1	7	,
	1		
	1	9	)
	2	0	)
	2	1	
į	بد	7	·.
ŀ	Š	_	•
	2	3	
	2 YEAR 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	4	
	2	5	
	4	6	
I		•	

FORM APPROVED COUNTY COUNSEL

### **ORDINANCE NO. 860.5**

### AN ORDINANCE OF THE COUNTY OF RIVERSIDE

AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows:

Section 1. of Ordinance 860 is amended to read as follows:

"Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:

### WARRANTS, JOURNAL PROCESSING, AND SERVICES

Special District County B Warrant (each)	\$4.35
Overnight Rush County B Warrants (each)	\$4.61
Special District Processing of Journal Vouchers (per line)	\$1.06
County/Flood Payroll Warrants/Direct Deposit	\$4.39
Special District Off-Cycle Warrant (each)	\$37.07
Special District Payroll Warrant (non-County) (each)	\$8.48
Child Support Garnishment (each)	\$1.50
Medical Support Garnishment (each)	\$1.50
Spousal Support Garnishment (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Sheriff Writs (each)	\$1.50
Copies - B&W (County, Special District, Public) (each)	\$0.02
Copies - Color (County, Special District, Public) (each)	\$0.17

1		Internal Auditing (per hour)	\$82.67
2		Property Tax Time-Share Assessment (per assessment)	\$3.01
3		Property Tax Fixed Charge Transaction (per parcel)	\$0.06
4		Property Tax Fixed Charge Correction (each)	\$42.16
5		Property Tax Fixed Charge Correction (per batch)	\$126.47
6		Property Tax Fixed Charge Enrollment/Correction (per ba	ntch) \$165.77
7		Property Tax Redevelopment Service (per hour)	\$163.49"
8	Section 2.	This ordinance shall take effect thirty (30) days after its ac	doption.
9		BOARD OF SUPERVISORS OF T	the state of the s
10		OF RIVERSIDE, STATE OF CAL	IFURNIA
11		By:	
12		Chairman	
13	ATTEST:		
14	CLERK OF THE BOAR	<b>D:</b>	
15			
16	By:		
17	Deputy		
18	(SEAL)		
19			
20			
21			
22			
23			
24			
25			
26			
27			

#### Attachment "B"

### County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known As of 12/2/09; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptID Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	Trans Rate	Charge Per Pay Period	No. of Pay Periods Charged	Annual Charge FY 2010/11	
10001	Board of Supervisors	55	\$4.39	\$241.40	26	\$6,276.47	
10002	Clerk of the Board	8	4.39	35.11	26	912.94	
11001	Executive Office	27	4.39	118.51	26	3,081.18	
11015	County Free Library	1	4.39	4.39	26	114.12	
11050	Natl Pollutant Dschrg Elim Sys	2	4.39	8.78	26	228.24	
11092	OASIS Financials Production	40	4.39	175.57	26	4,564.71	
11093	OASIS HRMS Production	20	4.39	87.78	26	2,282.35	
11301	Human Resources	169	4.39	741.76	26	19,285.88	
11303	Air Quality Division	3	4.39	13.17	26	342.35	
11307	Property Insurance	1	4.39	4.39	26	114.12	
11308	Workers Compensation	52	4.39	228.24	26	5,934.12	
11309	Malpractice Insurance	2	4.39	8.78	26	228.24	
11310	Liability Insurance	30	4.39	131.67	26	3,423.53	
11312	Disability Insurance	1	4.39	4.39	26	114.12	
11313	Safety Loss Control	18	4.39	79.00	26	2,054.12	
11318	Temporary Assistance Pool	1,098	4.39	4,819.28	26	125,301.18	
11320	Exclusive Provider Option	35	4.39	153.62	26	3,994.12	
11322	Employee Assistance Program	7	4.39	30.72	26	798.82	
11329	Occupational Health & Wellness	18	4.39	79.00	26	2,054.12	
11501	CFD Assessment Dist Admin	- 20	4.39	21.95	26	<u>2,034.12</u> 570.59	
12001	Assessor	206	4.39	904.16	26		
12002	Clerk Recorder	171	4.39			23,508.24	
12003	Records Management & Archives Program			750.54	26	19,514.12	
12004	CREST	25	4.39	109.73	26	2,852.94	
13001	Auditor-Controller		4.39	30.72	26	798.82	
13002	Internal Audits	72	4.39	316.02	26	8,216.47	
13003	Payroll Services	14	4.39	61.45	26	1,597.65	
14001	Treasurer-Tax Collector	23	4.39	100.95	26	2,624.71	
15001	County Counsel	108	4.39	474.03	26	12,324.71	
17001		69	4.39	302.85	26	7,874.12	
	Registrar of Voters	41	4.39	179.95	26	4,678.82	
19001	EDA Agency Administration/CDBG Home	165	4.39	724.21	26	18,829.41	
	Workforce Development	138	4.39	605.70	26	15,748.24	
19004	Housing Authority (County)	97	4.39	425.75	26	11,069.41	
19107	County Airports	10	4.39	43.89	26	1,141.18	
	Fair and Nat'l Date Festival	10	4.39	43.89	26	1,141.18	
	Edward Dean Museum	3	4.39	13.17	26	342.35	
22001	District Attorney	804	4.39	3,528.87	26	91,750.59	
	Child Support Services	363	4.39	1,593.26	26	41,424.71	
24001	Public Defender	283	4.39	1,242.13	26	32,295.29	
	Sheriff Administration	51	4.39	223.85	26	5,820.00	
	Sheriff Administration	344	4.39	1,509.86	26	39,256.47	
	Sheriff Patrol/Anti Drug Abuse Grant	1,811	4.39	7,948.73	26	206,667.06	
	Sheriff Corrections	1,308	4.39	5,741.00	26	149,265.88	
	Sheriff Court Services	189	\$4.39	\$829.55	26	\$21,568.24	
25006	CAC Security	2	4.39	8.78	26	228.24	
25007	Training Center	60	4.39	263.35	26	6,847.06	
	RAID	1	4.39	4.39	26	114.12	
25010	Sheriff Coroner	53	4.39	232.62	26	6,048.24	
	Public Administraton	16	4.39	70.23	26	1,825.88	

### Attachment "B"

### County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known As of 12/2/09; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptiD Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	i irans katei	Charge Per Pay Period	No. of Pay Periods Charged	Annual Charge FY 2010/11
25051	Sheriff CAL-ID	27	4.39	118.51	26	3,081.18
26001	Prob Juvenile Hall	440	4.39	1,931.22	26	50,211.76
26002	Probation	355	4.39	1,558.14	26	40,511.70
26007	Probation - Admin & Support	64	4.39	280.90	26	7,303.53
27002	Fire Protection - Forest	169	4.39	741.76	26	19,285.88
27004	Fire Protection - Contract Services	22	4.39	96.56	26	2,510.59
28001	Agricultural Commissioner	54	4.39	237.01	26	6,162.3
29001	Local Agency Formation Comm	5	4.39	21.95	26	570.59
31001	GIS	19	4.39	83.39	26	2,168.2
31002	Transportation Land Mgt/Integrated Plan	63	4.39	276.52	26	7,189.4
31003	TLMA Counter Services	16	4.39	70.23	26	1,825.8
31005	Environmental Programs	16	4.39	70.23	26	1,825.88
31101	Building & Safety	47	4.39	206.29	26	5,363.53
31201	Planning	50	4.39	219.46	26	5,705.88
31301	Transportation	327	4.39	1,435.25	26	37,316.47
31302	Surveyor	36	4.39	158.01	26	4,108.24
31303	Crossing Guards	26	4.39	114.12	26	2,967.0
31307	Transportation Equipment	27	4.39	118.51	26	3,081.18
31308	TLMA ALUC	2	4.39	8.78	26	228.24
31401	Code Enforcement	133	4.39	583.76	26	15,177.65
41001	Mental Health Public Guardian	33	4.39	144.84	26	3,765.88
41002	Mental Health Treatment Program	627	4.39	2,751.99	26	71,551.76
41003	Mental Health Detention	53	4.39	232.62	26	6,048.24
41004	Mental Health Administration	171	4.39	750.54	26	19,514.12
41005	Mental Health Substance Abuse	111	4.39	487.19	26	
42001	Community Health Agency	660	4.39	2,896.83	26	12,667.06 75,317.65
42002	Calif Childrens Services	155	4.39	680.32	26	17,688.24
42003	CHA - Admin	164	4.39	719.82	26	
42004	Environmental Health	164	4.39	719.82	26	18,715.29
42006	Animal Control Services	199	4.39	873.44	26	18,715.29
43001	Riverside County Regional Medical Center	2,262	4.39	9,928.24	26	22,709.41
	Med Indigent Services Program			*****		258,134.12
	Detention Health Systems	31	4.39	136.06	26	3,537.65
	Waste Management	100 205	4.39	438.91	26	11,411.76
	DPSS Administration		4.39	899.77	26	23,394.12
52001	Local Initiative Admin DCA	3,144	4.39	13,799.46	26	358,785.88
	DCA-Local Initiative Program	23	4.39	100.95	26	2,624.71
	DCA - Other Programs	15	4.39	65.84	26	1,711.76
53001	Office on Aging -Title III	1	\$4.39	\$4.39	26	\$114.12
	Veterans Services	164	4.39	719.82	26	18,715.29
		12	4.39	52.67	26	1,369.41
	Cooperative Extension	5	4.39	21.95	26	570.59
	Fac Mgmt Administration	60	4.39	263.35	26	6,847.06
	Fac Mgmt Custodial/Housekeeping	203	4.39	891.00	26	23,165.88
	Fac Mgmt Maintenance	163	4.39	715.43	26	18,601.18
	Fac Mgmt Real Estate	22	4.39	96.56	26	2,510.59
.,	Fac Mgmt Design & Construction	29	4.39	127.29	26	3,309.41
	Fac Mgmt Energy Management	1	4.39	4.39	26	114.12
	Fac Mgmt Parking	20	4.39	87.78	26	2,282.35
72011	Fac Mgmt Facilities Project Group	11	4.39	48.28	26	1,255.29

### Attachment "B"

### County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known As of 12/2/09; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptiD Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	Trans Rate	Charge Per Pay Period	No. of Pay Periods Charged	Annual Charge FY 2010/11	
73001	Purchasing	22	4.39	96.56	26	2,510.59	
73003	Printing Services	22	4.39	96.56	26	2,510.59	
73004	Supply Services	16	4.39	70.23	26	1,825.88	
73005	Fleet Services	60	4.39	263.35	26	6,847.06	
73006	Central Mail	10	4.39	43.89	26	1,141.18	
74001	I.T D.P.	181	4.39	794.43	26	20,655.29	
74003	RCIT 800 Mhz Radio Project	11	4.39	48.28	26	1,255.29	
91520	CSA 152 - NPDES	28	4.39	122.90	26	3,195.29	
93110	Reg Parks & Open Space Dist	119	4.39	522.31	26	13,580.00	
93520	RCA - Operations	10	4.39	43.89	26	1,141,18	
93800	RC Children & Families First Com	28	4.39	122.90	26	3,195.29	
94300	WRMD Operation	42	4.39	184.34	26	4,792.94	
94720	Flood Control Administration	230	4.39	1,009.50	26	26,247.06	
98510	IHSS Public Authority - Admin	3	4.39	13.17	26	342.35	
98511	IHSS Public Auth-Registry/ Clerical	21	4.39	92.17	26	2,396.47	
98512	IHSS Public Auth-Operations	2	4.39	8.78	26	228.24	



# OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER P.O. BOX 1147, 4080 LEMON STREET RIVERSIDE, CA 92502-1147

PHONE: (951) 955-1060 FAX: (951) 955-1071 KECIA HARPER-IHEM Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

February 11, 2010

THE PRESS ENTERPRISE ATTN: LEGALS P.O. BOX 792 RIVERSIDE, CA 92501

VIA E-MAIL: legals@pe.com VIA FAX: (951) 955-368-9018

RE: INTRODUCTION OF ORDINANCE NO. 860.5

To Whom It May Concern:

Attached is a copy for publication in your newspaper for **ONE (1) TIME** on **Saturday**, **February 13. 2010**.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE: PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil
Cecilia Gil, Board Assistant to
KECIA HARPER-IHEM, CLERK OF THE BOARD

### Gil, Cecilia

From:

-E-eguie peguie@pei.com/j

Sent:

Thursday, February 11, 2010 8:47 AM

To:

Gil, Cecilia

Subject:

Received to pure sales and the sales

Please Note: We will be closed on Monday, Feb. 15th and the holiday deadlines are as follows:

Presidents Day Deadlines						
Pub. Date(s) Deadline						
2/13 – 2/16	Thurs. 2/11 @ 10:30 AM					
2/17	Fri. 2/12 @ 10:30 AM					
2/18	Tues. 2/16 @ 10:30 AM					

From: Gil, Cecilia [mailto:CCGIL@rcbos.org]
Sent: Thursday, February 11, 2010 8:18 AM

To: PE Legals

Subject: FOR PUBLICATION: Introduction of Ord. NO. 860.5

Again,

Attached is an Introduction of Hearing of above-mentioned Ordinance, for publication on Saturday, Feb. 13, 2010.

Please confirm. THANK YOU!

### Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE. PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.



# OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER

P.O. BOX 1147, 4080 LEMON STREET RIVERSIDE, CA 92502-1147

PHONE: (951) 955-1060 FAX: (951) 955-1071 KECIA HARPER-IHEM
Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

February 11, 2010

THE DESERT SUN ATTN: LEGALS P.O. BOX 2734 PALM SPRINGS, CA 92263

VIA E-MAIL: legals@thedesertsun.com

VIA FAX: (760) 778-4731

RE: INTRODUCTION OF ORDINANCE NO. 860.5

To Whom It May Concern:

Attached is a copy for publication in your newspaper for **ONE (1) TIME** on **Saturday**, **February 13**, **2010**.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE: PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil
Cecilia Gil, Board Assistant to
KECIA HARPER-IHEM, CLERK OF THE BOARD

### Gil. Cecilia

From:

Sent:

Thursday, February 11, 2010 8:49 AM

Gil, Cecilia

Subject:



Charlene Moeller
Public Notice Customer Service Rep.
The Desert Sun Newspaper
750 N. Gene Autry Trail, Palm Springs, CA 92262
(760) 778-4578, Fax (760) 778-4731
Desert Sun legals@thedesertsun.com
& Desert Post Weekly dpwlegals@thedesertsun.com
The Coachella Valley's #1 Source in News & Advertising!
Visit us at mydesert.com

**From:** Gil, Cecilia [mailto:CCGIL@rcbos.org] **Sent:** Thursday, February 11, 2010 8:18 AM

To: tds-legals

Subject: FOR PUBLICATION: Introduction of Ord. NO. 860.5

Again,

Attached is an Introduction of Hearing of above-mentioned Ordinance, for publication on Saturday, Feb. 13, 2010.

Please confirm. THANK YOU!

### Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE.
PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.

### NOTICE OF PUBLIC HEARING BEFORE THE BOARD OF SUPERVISORS OF RIVERSIDE COUNTY

NOTICE IS HEREBY GIVEN that a public hearing at which all interested persons will be heard, will be held before the Board of Supervisors of Riverside County, California, on the 1st Floor Board Chambers, County Administrative Center, 4080 Lemon Street, Riverside, on Tuesday, March 2, 2010 at 9:30 a.m. to consider adoption of the following ordinance:

### **ORDINANCE NO. 860.5** AN ORDINANCE OF THE COUNTY OF RIVERSIDE AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows:

Section 1. Of Ordinance 860 is amended to read as follows: Section 1.

> The Board of Supervisors establishes the following schedule of fees for warrants, "Section 1. iournal processing and services provided by the County Auditor-Controller:

WARRANTS, JOURNAL PROCESSING, AND SER'	VICES
Special District County B Warrant (each)	\$4.35
Overnight Rush County B Warrants (each)	\$4.61
Special District Processing of Journal Vouchers (per line)	\$1.06
County/Flood Payroll Warrants/Direct Deposit	\$4.39
Special District Off-Cycle Warrant (each)	\$37.07
Special District Payroll Warrant (non-County) (each)	\$8.48
Child Support Garnishment (each)	\$1.50
Medical Support Garnishment (each)	\$1.50
Spousal Support Garnishment (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Sheriff Writs (each)	\$1.50
Copies – B&W (County, Special District, Public) (each)	\$0.02
Copies - Color (County, Special District, Public) (each)	\$0.17
Internal Auditing (per hour)	\$82.67
Property Tax Time-Share Assessment (per assessment)	\$3.01
Property Tax Fixed Charge Transaction (per parcel)	\$0.06
Property Tax Fixed Charge Correction (each)	\$42.16
Property Tax Fixed Charge Correction (per batch)	\$126.47
Property Tax Fixed Charge Enrollment/Correction (per batch)	\$165.77
Property Tax Redevelopment Service (per hour)	\$163.49"

Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Any person affected by the above matter(s) may submit written comments to the Clerk of the Board before the hearing or may appear and be heard in support or opposition to the project at the time of the hearing. If you challenge the above item(s) in court, you may be limited to raising only those issues you or someone else raised at the public hearing described in this notice, or in written correspondence, to the Board of Supervisors at, or prior to, the public hearing.

Clerk of the Board, 4080 Lemon Street, 1st Floor, Post Office Please send all written correspondence to: Box 1147, Riverside, CA 92502-1147

Dated: February 11, 2010 Kecia Harper-Ihem, Clerk of the Board

By: Cecilia Gil, Board Assistant

### THE PRESS-ENTERPRISE PECOM

# Legal Advertising Invoice

REMITTANCE ADDRESS POST OFFICE BOX 12009 RIVERSIDE, CA 92502-2209 FAX (951) 368-9026

BILLING PERIOD

ADVERTISING/CLIENT NAME

02/13/10 - 02/13/10 BILLING DATE

BOARD OF SUPERVISORS FOR BILLING INFORMATION CALL

**1** PAGE NO

02/13/10 @ TOTAL AMOUNT DUE

TERMS OF PAYMENT

239.20

Due Upon Receipt

**BILLED ACCOUNT NAME AND ADDRESS** 

**® BILLED ACCOUNT NUMBER** 

I REP NO

1

BOARD OF SUPERVISORS COUNTY OF RIVERSIDE P.O. BOX 1147

RIVERSIDE CA 92502

045202

LE04

Statement #:

56524124 Amount Paid \$

Your Check #

### PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

O DATE	REFERENCE		(B) SAU SIZE (B) BILLED UNITS	® RATE	© GROSS AMOUNT . ② NET AMOUNT
02/13	4155736 CO	INTRODUCTION OF ORDINANCE NO. Class : 10 Ctext Ad# 10161452 Placed By : Cecilia Gil	184 L	1.30	239.20
					RECEIVED RIVES 2010 FEB 23
					23 AM
					9: -
					Audity. Controll 3.63b of 2/9/10
					1hr
	COMING SOON! Elec It's easy! Search	ronic Tearsheet Delivery Service view, save, email notification & more			

					₱ PLEASE PAY
② CURRENT NET AMOUNT OUE	② 30 DAYS  **:	60 DAYS	OVER 90 DAYS	' UNAPPLIED AMOUNT	THIS AMOUNT
					239 20
			•		203.20

THE PRESS-ENTERPRISE P.O. BOX 12009
RIVERSIDE, CA 92502-2209
TELEPHONE (951) 368-9711
(951) 368-9720 [ (951) 368-9713

**ADVERTISING** STATEMENT/INVOICE

\* UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

521

2 STATEMENT NUMBER	<b>4</b> 5	ADVERTISER	INFORMATION		
# 24 A C 4 D A C	BILLING PERIOD	BILLED ACCOUNT NUMBER	@ADVERTISER/CLIENT NUMBER	advertise	R/CLIENT NAME
56524124	02/13/10 - 02/13/10	045202		BOARD OF SI	UPERVISORS

## THE PRESS-ENTERPRISE

3450 Fourteenth Street Riverside CA 92501-3878 951-684-1200 951-368-9018 FAX

PROOF OF PUBLICATION (2010, 2015.5 C.C.P.)

Press-Enterprise

PROOF OF PUBLICATION OF

Ad Desc.: Introduction of Ordinance No. 860.5

I am a citizen of the United States. I am over the age of eighteen years and not a party to or interested in the above entitled matter. I am an authorized representative of THE PRESS-ENTERPRISE, a newspaper of general circulation, printed and published daily in the County of Riverside, and which newspaper has been adjudicated a newspaper of general circulation by the Superior Court of the County of Riverside, State of California, under date of April 25, 1952, Case Number 54446, under date of March 29, 1957, Case Number 65673 and under date of August 25, 1995. Case Number 267864; that the notice, of which the annexed is a printed copy, has been published in said newspaper in accordance with the instructions of the person(s) requesting publication, and not in any supplement thereof on the following dates, to wit:

02-13-10

I Certify (or declare) under penalty of perjury that the foregoing is true and correct.

Date: Feb. 13, 2010 At: Riverside, California

**BOARD OF SUPERVISORS** 

P.O. BOX 1147 COUNTY OF RIVERSIDE RIVERSIDE CA 92502

Ad #: 10161452

PO #:

Agency #:

#### Ad Copy:

NOTICE OF PUBLIC HEARING BEFORE THE BOARD OF SUPERVISORS OF RIVERSIDE COUNTY

NOTICE IS HERBY GIVEN that a public hearing at which all interested persons will be heard, will be held before the Board of Supervisors of Riverside County, California, on the 1st Floor Board Chambers, County Administrative Center, 4080 Lemon Street, Riverside, on Tuesday, March 2, 2010 at 9:30 a.m. to consider adoption of the following ordinance:

ORDINANCE NO. 860.5

AN ORDINANCE OF THE COUNTY OF RIVERSIDE AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER
The Board of Supervisors of the County of Riverside ordains as follows:

Section 1. Section 1. Of Ordinance 860 is amended to read as follows:

"Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller: WARRANTS, JOURNAL PROCESSING, AND SERVICES

Special District County B Warrant (each)	\$4.35
Overnight Rush County B Warrants (each)	\$4.61
Special District Processing of Journal Vouchers (per line)	\$1.06
County/Flood Payroll Warrants/Direct Deposit	\$4.39
Special District Off-Cycle Warrant (each)	\$37.07
Special District Payroll Warrant (non-County) (each)	\$8.48
Child Support Gamishment (each)	\$1.50
Medical Support Gamishment (each)	\$1.50
Spousal Support Gamishment (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Sheriff Writs (each)	\$1.50
Copies - B&W (County, Special District, Public) (each)	\$0.02
Copies - Color (County, Special District, Public) (each)	\$0.17_
Internal Auditing (per hour)	\$82.67
Property Tax Time-Share Assessment (per assessment)	\$3.01
Property Tax Fixed Charge Transaction (per parcel)	\$0.06
Property Tax Fixed Charge Correction (each)	\$42.16_
Property Tax Fixed Charge Correction (per batch)	\$126.47
Property Tax Fixed Charge Enrollment/Correction (per batch)	\$165.77
Property Tax Redevelopment Service (per hour)	\$163.49"

Section 2. This ordinance shall take effect thirty (30) days after its adoption. section 2.1 his orainance shall take effect thirty (30) days after its adoption.

Any person affected by the above matter(s) may submit written comments to the Clerk of the Board before the hearing or may appear and be heard in support or apposition to the project at the time of the hearing. If you challenge the above item(s) in court, you may be limited to raising only those issues you or someone else raised at the public hearing described in this notice, or in written correspondence, to the Board of Supervisors at, or prior to, the public hearing.

Please send all written correspondence to: Clerk of the Board, 4080 Lemon Street, 1st Floor, Post Office Box 1147, Riverside, CA 92502-1147

Dated: February 11, 2010
Kecia Harper-Ihem, Clerk of the Board
By: Cecilia Gil, Board Assistant

2/13

# The Desert Sun

mydesert.com

750 N. Gene Autry Trail Palm Springs, CA 92262 Billing Inquiries: (866) 875–0854 Main Office: (760) 322–8889

### ADVERTISING INVOICE/STATEMENT

Make Checks payable to DESERT SUN PUBLISHING CO. P.O. Box 677368 Dallas, TX 75267–7368 A finance charge of 1.5% per month(18% Annually) will be added to balances not paid by the 20th.

144

### RIVO690000036880320037213210822

RIVERSIDE COUNTY-BOARD OF SUP. PO BOX 1147 RIVERSIDE CA 92502-1147

PLEASE RETURN THIS TOP SECTION WITH PAYMENT IN THE ENCLOSED ENVELOPE AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

Customer No.	Invoice No.
RIV069	0003688032
For the Period	Thru
02/01/10	02/28/10
Due Date	Amount Due
03/15/10	3,721.32
AMOUNT PAID	

٠.													
	Date	EDT	Class		Description		Times	Col	Depth	Total Size	Rate	•	Amount
	0201			BALANC	E FORWARD					*			4,598.82
	0201	, i	,	COMME	RCIAL PAYMEN	NT THANK YO	ul 📗						3,922.18-
	0205	CLS	0001	CECILIA	NO 0461 NO	TICE O	8	2	135.00	2160.00	)	.	230.10
	0205	CLS	0001	CECILIA	NO 0462 BO	ARD OF	8	2	67.00	1072.00	)		117.22
	0207	CLS	0001	CECILIA	NO 0513 BO	ARD OF	8	2	730.00	1680.00	)		1,217.80
	0212	CLS	0001	CECILIA	NO 0590 NO	TICE O	8	2	92.00	1472.00			158.72
	0213	CLS	0001	CECILIA	NO 0615 NO	TICE O	8	2	75.00	1200.00	)		130.50
	0213	CLS	0001	CECILIA		TICE O	8	2		1472.00	)		158.72
		CLS	0001	CECILIA		TICE O	8	2	92.00	1472.00			158.72
		CLS	0001	CECILIA	NO 0628 NO	TICE O	8	2	65.00	1040.00	)		113.90
		CLS	0001	CECILIA	NO 0689 BO	ARD OF	8	2	208.00	3328.0	)		351.28
	0219	CLS	0001	CECILIA	NO 0690 BO	ARD OF	8	2	242.00	3872.00	)		407.72
	<b>£</b>												
	<u> </u>	₽											
	- •												
2	7 C	<b>t</b>											
, G	့် ၀												
	100 m	1											
	. 0	=											
4	<b>1</b> 3	zuru mark											
÷													
č	-	7											-
	Current		Ove	Over 30 Days Over 60 Days		Over 90 Days Over 120 Days		s	Total Due				
	3,044.68		48	37.14	189.50	.00	.00	.00		3,721.32			, , , , ,
	Contr	act Type	Cont	ract Onty.	t Qnty. Expiration Date Current Usage To		Total U	Total Used		Quantity Remaining		Salesperson	
	-											MOE	ELLER

The Advertiser shall make payment within 15 days of the billing date indicated on Company's statement, and, in the event that it fails to make payment within such time, Company may reject advertising copy and / or immediately cancel this contract and Advertiser agrees to indemnify Company for all expenses incurred in connection with the collection of amounts payable under this contract, including but not limited to collection fees, attorney's fees and court costs. Company may rebill the Advertiser for the outstanding balance due at the open or earned contract rate, whichever is applicable.

TO ENSURE PROPER CREDIT, PLEASE RETURN THE TOP SECTION AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

Customer Number	Name	$\Box$	Invoice Number	Amount Paid
RIV069	RIVERSIDE COUNTY-BOARD OF SUP.		0003688032	

# PROOF OF PUBLICATION (2015.5.C.C.P)

STATE OF CALIFORNIA County of Riverside

February 13th 2010

I am a citizen of the United States and a resident of the County aforesaid; I am over the age of eighteen years, and not a party to or interested in the above-entitled matter. I am the principal clerk of a printer of the, DESERT SUN PUBLISHING COMPANY a newspaper of general circulation, printed and published in the city of Palm Springs, County of Riverside, and which newspaper has been adjudged a newspaper of general circulation by the Superior Court of the County of Riverside, State of California under the date of March 24, 1988. Case Number 191236; that the notice, of which the annexed is a printed copy (set in type not smaller than non pariel, has been published in each regular and entire issue of said newspaper and not in any supplement thereof on the following dates, to wit:

All in the year 2010
I certify (or declare) under penalty of perjury that the foregoing is true and correct.
Dated at Palm Springs, California this15 <sup>th</sup> , day
of, 2010
Signature

